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General Instructions:

L All questions are compulsory.

2 The question paper consists of 31 questions divided into four sections A, B, C and D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each,

3 There is no overall choice in this question paper.

4 Use of calculator is not permitted.

HUE-3 J SECTION-A
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Ouestion numbers 1 to 4 carry one mark each.
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Find the value of ?“21;5“.

o2 —3x T IEEE i | 1
Factorise : 1% = 3x, _

(30° — g} 3R (125°+2q) F w9 AW 2 w0 weEw Hyew €)W oIE am e 1

The two angles measuring (30" —a) and (125°+ 24) are supplementary to each other. Find the
value of a.
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The area of an equilateral triangle is 64/3 cm®. Find its side.
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Question numbers 5 to 10 carry two marks each.
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Express 0.235 in the qu[mm where p and q are integers and q # 0.

plx) = 203 + 322 + 2x + AW x—1 R W T W A AFEA 7 WA 2
Find the remainder when p{x) = 22 + 32 + 2r + 3, is divided by x - 1.

& Prg@ PR #, X sty w9 pQ st QR W fomm #1 wft pQaQR QX =Qy ¥ @ 2wy 2
fEpx=RY ®

In a triangle PQR, X and Y are the points on PQ and QR respectively, If PO=0R and
QX =Y, show that PX =RY. .
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Plot D{—2, —3) on the graph paper. Also, plot reflections of D in x - axis and y - axis.
faaelt W w1 waneE! 400 m #7410 m €1 70 WA = derww S T g 2
T i)
In a rhombus, lengths of diagonals are 400 m and 410 m. Find the area and side of the
rhombus.
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Question numbers 11 ta 20 carry three marks each.
J2 mEA a1 i 3

Represent +f3 on the number line.
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Evaluate using suitable identity : (9973
AW+ 220 M 4 y=5k W+ 1 7 7 =i

o+ = 20 and X+ y= 5, then find the value of #3443,
#7 tand as, cp 3t EF, Sl &

7wy
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In the given fi
angles.

gure, ljjm and transversal n intersects  and m, Kid:5m

2 b ?,flndnﬂﬁ
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i)  ALMPsALNQ
(i)  LM=LN, 3R LMN 05 Toigag e by
L
?
M N

LMN is a triangle in which altitudes MP and NQ to sides LN and LM respectively are equal.
Show that : .

i ALMP=ALNQ
() LM=LN,ie LMN is an isosceles triangle.
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ints A(-2, -2), B(4, -2), C(8, 3) and D{-3, 3) on the graph paper. Join them in

order a tify the figure so formed. Draw AC and BD. Alse, write the coordinates of the
point of intersection of AC with y-axis.

MW ABCD % SR & UF #@n W S9em 7@ wivw, femd AR = 50 m,
BC =18m, CD = 82m, DA = 50 m 3 2CBD = %' B
Find the area of a quadrilateral field ABCD in which AR = 50 m,
BC = 18m, CD = 82 m, DA = 50 m and £CBD = 9,

THUE-T [ SECTION-D
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M y=9-45 & 7 £ -—dﬂ: mﬂﬂmiﬂﬁmn

lfx=9-4.5, find 2% - ;3- and .\'3+—;-
x

s =2
923 [3_%‘] - 27" g
'ﬂﬁ B.E;:?_ -EtJﬂMﬁEﬁm-nmltr

\ =3

o [3798] -
) 37808 _
973 ~ 2772 — 100z + 300 % TTOTTEE WG, TfE 32+ 10 R TF AT ¥

Factorise : 9° — 2722 — 100z + 300, if 37+ 10 Is one of the factors.
W -2l —x41 F 241 F ym A v wm feee W dvew W W W wE

1
= — that m—n=[,
= prove m=nm=

T Wit |

Dtv:deuupul}mmmul:*uﬁ 11-‘-:-1-1 by x+1 and verify remainder by using remainder
gﬂitﬂ»’lﬁﬂ.

Factorise: - . g4 64b*+ 1227 b + 48 ab®
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in the given figure ADG represents a College gate followed by 2 ramp HJ instead of stairs 1o make it
easy for physically challenged students to climb. H! is equal to mid support EF and EF is equal to BC.
What is the relation between BC and HJ 7 State the Euclid Axiom behind this fact. Which value coliege
is exhibiting by placing ramps instead of stairs ? Mention one maore Euclid Axiom.
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“A square is 4 polygen made up of four line segments, out of which, length of three line segments are
equal to the length of fourth one and all its angles are fight angles".
Define the terms used in this definition which have been highlighted /underlined.




19, In the figure, sides AB and AC of AABC are produced to points E and [) respectively. If
bisectors BO and CO of £ CBE and £ BCD respectively meet at point O, then prove that

ZBOC=90°- . /BAC. *
2 A
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81, In the figure, PR > PQ and PS bisects < QPR. Prove that £ PSR > £ PSQ.
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